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#

GROUP-A / (F-+141)

LT

1. For cach question given below four answers are given. Out of four, only one answer
is correct. Select the correct answer. | x4=4

S 2SN &2 AR BifGIes Tea fml Witz | 31f<GM fowas itz w5 Boa | o5 Sears) A
Tfeedr)

(i)  The time period of a simple pendulum is Q-5 seconds The number of oscillations
the pendulum would complete in 1 second is

<B1 T CRITRRT AT 0.5 (RPG | (IO 1 (rPoe 575 I (e ALt

@ 2
@) 1

©. 0-5
@ 0-2

() Which of the following statements about the given reaction is truc ?
e RIFANBR (Fae ©o (F B Aoy
H,S+Cl, - 2HCI+S

(a) Cl, is an reducing agent.

Cl, 9! fFess “mid|

(b) H,S is an oxidising agent.
H,S 0! &E md|

(¢) Cl, has accepted electrons.

Cl, @ =ga oz SRz

(d) H,S is reduced to S.
H,S w=@ike Reie =)

B13-GSc [2]
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(iii) The class of coal with highest percentage of carbon is —

(tv)

2. (a)
@)
B13-GSc

PRI AR > 2AfEaie 2 IR NG T —

(a) Lignitc Coal
IGUCiEkTG|

.(b) Anthracite

GRERIEG
(¢) Bituminous Coal
fapfimre Faem
(d) Sub-bituminous coal
o1z I
A person uses a corrective lens of power —1.5D. He is suffering from —
9w FRETH —1-5.D FICR b5l TJ9R I | (949 R [ 2 —

(a) Myopia
RIERZE)

(b) Hypermetropia
RIZARCG Tl

(c) Prcsbyopia
cerRat it

(d) Blindness

wieRer

Distinguish between transverse wave and longitudinal wave. 2

SerE TRRE I ST SR AR Sirefqy e

The wavelength of a sound wave is 1 metre and frequency 4 x10% Hertz. How
much time will be nceded by the wave to travel a distance of 2km ? 2

[3] Contd.
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3. (@
()
4. (a)
()

B13-GSc

B! ¥ TRAT SRATG 1A o T 4x 107 ZeF | @R CRI0R 2on /Y
wieey SRt e 7w afaae?

Or / G

The frequency of a sound wave is 250 Hertz and the distance between consecutive
rarcfaction and compression is 2 metres. Find the velocity of the wave. 2

D1 *[H BB I 250 2 | SEras PR SF. ARG e 73e 25571
TAAHE (@ fefa <=

An object is situated in-between the centre of curvature and the focus of a
concave mirror. Draw a ray diagram showing the formation of the image. 2

G TG WL Siate® Wi TS Nere bl a7F<E (A 1505 | IRbIR ARime
aAfSRa siga el

A concave mirror of focal length 15¢m forms a virtual image of an object. The

=~

image is twice in size comparced to the objcct. Find the distance of the object from -

the mirror. 2

15 (&% %31 (0 See ol G o] TPHRad Se, efolds 51 SR | TFFRes
TS AfSRFER BB q&o | RCNIATR /a1 THIGR &g Few 31

Or / 93]

An object is placed 10cm in front of a convex lens of focal length 15 em. Find

the location and magnification of the image. 2"

15 (&f3 %I FEed Q3= TG TR A1 1007 MaTe <o o7 I8 (Ui 0ze | afelEe
sRZW SiF [@Eq fdm w4

Explain why an underwater object appears to be situated above its actual
position. ) : 2
I BoTq T B! AFO F[AOLS @IS 4 W P (Rl A, G w4 |

A ray of light is incident normally on the boundary of two transparent media. Will
the refraction occur ? Give reasons for your answer. 1

[4]
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5. (a)

@)

(©

B13-GSc

(oi1R AP Y51 70z AR AfFSeTS sTHeia Wi T2z | efewmem AREBas: wiar ¢
COTIE TG AACE Flel e

Define clectric ficld intensity. Compare the motion of a positive charge and a
negative charge in an electric ficld. 2

T oFT AR A Bl AT oFa QANS HAINE S AR SiKWE e
Gl 4|

Three resistors of resistances 3€2, 4£2 and 562 are connected in series to a battery
and is found that a current of 14 flows through the circuit. The three resistors are
now replaced by a single resistor and then also the same current of 14 flows in
the circuit. What is the resistance of the single resistor ? 1

3Q, 4Q wF 5Q 7 fSE0 (@14 (= AeEs Gbt (FHRIT HIS ATl T4 (T WE
FSAICBIA AT 1 vz R 2raifes tarm | Rl qiea i wim b1 Qe Téaitse
ZI T R Sl ©F Res TEAIETe aiF AAfREi fge 14 291fEs % | @3
(AILFHE @Y [ 2

"In the circuit given below four resistors R, =50, R, =108, R; =30 and

R, =582 and a 12V battery arc connected. Calculate (i) the total resistance in the
circuit, (if) the current in the circuit. 2+1=3

Toq TGOS BRI [@IE R =502, R, =102, R, =300, R, =5Q 3= @t 12V

GBI SN M TR | FEAIBI (1) 5 QN4 AT (i) o Ry 21wz #AfFe st =11

Ry

Or / 97

Show how you would connect three resistors of resistances 642, so that the
combination has a resistance of 2£2. .3

R 60 @IS (T AN FITEA FEIOA @4 202 T, (Y|
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6. (a)

)

7. (a)

(®)
B13-GSc

The specific resistance of a metal conductor is 2. You are given another conductor

of the same metal which is twice the length of the first conductor. What is the .
resistivity of the seccond conductor ? I+

GBI 4 AR ACARFS 1 P e argr Fffe wis o vas e B ol
AR comiz frat Tere | € ARSI SeifEE @ R

Who discovered the relation between electric current and magnetism ? Describe
the experiment which showed that the electricity and the magnetism are related

phenomena. 1+3=4
e I P ACTS AR AAHO! (I WIReT TR [ge e prew @ o
o2 AT ARG O afewdm a1 ! 7 41|

Or / 9qe3f

What is electromagnetic induction ? Describe the experiment to demonstrate the
phenomcnon of electromagnetic induction. [+3=4

ey e 57 e 550 S ~ARGAsT et SRate @B i e
il : - |

Distinguish between an electric motor and a generator. = 1
i 163 SE Afes Tesiva sty fa
What is a covalent bond ? Explain the formation of water molecule. 1+1=2

FECAE AR I @2 AN YR A5 rt =4
Explain with reasons : (any one) 2
R wfiE IR IR ¢ (R rTar @by)

()  lonic compounds are crystalline solids.

AR (TR F IR ol smid|

(i) ~ MgCl, is highly soluble in water but completely insoluble in benzene.

MgCl, #e wiom TRy 5% (@ fRiae S Swad |

[6]
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(c)

8. (a
(@)

9 (a)
)

B13-GSc

A and B are two clements having valence clectrons 6 and 7 respectively. Find out
the molecular formula of the compound formed by 4 and B. : 1

el A % B 9 &(a 6 % 7 O (AGS A4 S| A % B Q 559 T4 (ASTHR
TR ATTS s |

What are oxyacids ? Mention the anions of the fpllowing acids : 1+1=2
SHafEE FF Q@IE? oo il aReTET gaEaEE S 7= 1
HNO; , H,CO;

Or / 93T

What are bases ? Mention one property of bascs with a chemical equation.
1+1=2

T P @2 TR G67 45f IRAAS ANRHZ Togd 390 |

You are given two samples of pure water and-lemon juice in two test tubes. How
will you identify the lemon juice with the help of a suitable indicator ? 1

0! ATTFIRETS 72 IO (O g Al SR @F 94 Tl 2 | 1 T 53
FRITO (PP AR e afar? _

What is a homologous series ? Explain with an example. 1+1=2
TSN AT e (A= 2 B TiZaeR AT I <l |

Or / g9t

What is a functional group ? Explain with an example. 1+1=2

IR T T (JCE 2 GB7 BHIEIR CTATS AT 3 |

To which class does the following reaction belong ? Mention the structural featurces
necessary for the compound to exhibit such reaction. 1+1=2

e RiEad: em cfiv? @3 oo/ Rida oRERTE 20 @GR e &
[SIRERE RSk
C,Hy+ Br, > C,H,Br,

[7) Contd.
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10. (a)

(b)
1. (a)
B13-G5¢

Definc and explain the terms calcination and roasting with examples.  2+2=4
WA A GATR % OR T Bl i Srizaed TS g 54| R

e

Or / &1t

Write the name and formula of an important ore of Zinc. Describe with diagram
the vertical retort process for extraction of Zinc from roasted ore. Write the
chemical equation involved. "143=4

fase 401 eeesf AR T O ATFS Frail ot wrelies ofe R 75E ot
e ferarm oo wfar w11 swfie armmfae @k BlRan

Answer in brief : (any o) 1x2=2
5y & fuat : (R ¢t o)
(i) An ore used for metal cxtraction contains CaO as gangué. Select a suitable
flux for its removal.
iy e TS Bl GREE Ca0 NG Wil @itz | 20 Sieqda A0 @Bt
Coge Reifere AR
(i) What is the process used for concentration of sulphide ores ? "
RATIRE SRFR SO Amfe 52
(iij) What are the metals present in the alloy Bronze ?
AR 4 age & o 4o g
Answer any two of the following : T 1x2=2
oS WMalaEa & I 5519 Oea =t ¢
.() Namc the catalyst and promoter used in the manufacture of ammonia by
Haber’s Process.’
(AR AFER GAFR 2A) ToAmas 72T I SE6E W 61 4 AW
ferani .
(i) What is anncaling of glass ?
Il6a T Ao 52
(iii} Name the raw materials used for' manufacture of Portland cement.
AreTs Hrarsa Besies Iz 31 (51 ARNATZ JW e
[8]
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(b) Name two natural fungicides. _ 1

Wl 2gfes (SRR Fi fo

12. What is meant by cracking of petroleum ? Name two petrochemicals, 1+12

(oG T wlo-Sgw WA /52 9o1 g amrfe w39 |
Or / o3

What is the full form of LPG ? Write the name of its principal constituent.  1+1=2

LPG @ w3« Aot 52 TR 24 TAMMCGR A ferar |

GROUP-B [ (3-*1i41)

13. For the questions given below four answers are provided of which only one is correct..
Sclect the correct answer. ' 1x2=2

wo1q 2l ee A SIRBIS Sed fMal Stz | sl fooTe BIeg o $64 | u% oedts! AR
Bferaar)

(i) Balanophoraisa
R F QY

(a) total stem parasilc

oy g AqGiE

(b) partial stem parasite
SRR TG oG

(c) total root parasite

Tl 1 S

(d) partial root parasitc

i o A |
B13-GSc [9] Contd.
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(ii)) The chemical substance that is produced during lightning is -—

Rred corRafre fsfe cart IR ~mied By e —
' (a) Nitric acid
R afwr
(b) Nitrous oxide
RER THRT
(c) Nitric oxide
TRLT HZS
(d) Sulphuric acid
REIRPER «iew
14. Answer the following':
| OO AR e

(a) Write the Phenotypic dihybrid ratio.
JEER [-ATT FF#ATSH! 71 |

(b) Write the name of two glands present in the skin of man.
A2 BIETS A3 93 2% &g 7 fora |
(¢) What do you mean by crossing over ?

@2 SWSH et & e

15. (a) Namc the disaccharide found in milk.

MATS 2t -1t e ara fonat |
(b) Write two pﬁnbipal functions of liver.
T3 HoI e F forall |
Or /9

Write two significance of photosynthesis.

AT AT YB1 Stesi femi)

B13-GSc . [10]
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16. Wrile any three diffcrences between acrobic and anacrobic respiration.

L¥3)

ARG Sl GAIE ¥4 (s [ (e fSHor wiefey foin |

Or /9%t

Write hm;' oxygen and carbondioxide gases are transported in human body. 3
TR (7S SRTEH S TEA-B12 UHZE (4R & Wi ARize 2o fas

17. (a)
)
18. (a)
®)
19. (@)
(b)
B13-GSc

State onc harmful effect of transpiration. ' . 1
ATFR B FoAFIS! ST =4 |

What is lenticular transpiration ? - |
ISR AT 1T (AT ?

Fill in the blanks : 1
A1 J1% 27 I ¢

The blood vessels having extremely thin wall for exchange of materials arc called

A R IT AR TSR G o «hed 20 CoREEs
QAT

Draw a labelled diagram of intemnal structurc of heart of man. 2
AR TNAER SISl sioe b1 bz foa wifat |

Which hormone controls apical dominance in plants ? 1
R 737 SR T et fege 0 2

What is autonomic nervous system ? Wrile the name of two parts of autonomic
nervous system. 1+1=2

e wrey [ e waifera wgeEa ol gom A |
Or/ 93

Name the largest endocrine gland in human body. Writc one important function of
the hormone produced by this gland. 1+1=2

AT AOIZOLE Tred SZeRat AfZIor 7w o7 | @ Ay =51¢ 31 ==mw'A [ga 9o
2t T =7t : '

[11] Contd.
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23.

What arc the main nitrogenous waste materials produced in the human body ?

TR (7T % (AT 24 TRE TSTare R (6 AR & o

() 'Why reduction division is essential during gamete formation ?
GRACTE DA TS IS (e o 2 242

(b) State the function of interstitial cell stimulating hormone (ICSH) in man.

TR (72 BB (ia SRiete o w1 Srard 31 |

Write how mutation causes variation in organisms.

TerRAET R S W fomer w2 303 o

Write two reasons for conservation of natural resources.

2ARFFEF ol AT 451 A By /|
Or/ w91

Why rain water harvesting is essential ?

wﬁﬂvﬁﬁﬂaﬁvﬁmw?

Explain how embryology provides evidences in favour of evolution.

W @RS (G Rader Fors Aray WM Irg A
(J'r'ﬂ!*i"-"«'fiﬂr

Discuss briefly the Lamarck’s theory {rom four important angles.

| (TR TSB! BT e el Y& et A=t Sl ST %54t |

B13-GSc [12]
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Answer Group-A and Group-B in the
same Answer Script.

Fo O - -g Twg qrEds 950 [FiREl |

GROUP-A | (F-14h)

1. For cach question given below four answers are given. Out of four, only onc answer
is correct. Selecl the correct answer. 1x4=4

wq 2AfSrht 2@ M SIRGIT Tea Mal iz | vitE oe dong ua T6t | u% CEars! g
el |

()  The time period of a simple pendulum is 0- 5 seconds. The number of oscillations
the pendulum would complete in 1 second 1s

31 FGE (AIETFE AGEIET 0-5 (BFS| (MFIOND 1 (e 7= I (e 2

(@) 2
G 1
c) 0-5
(d 0-2
B13-GSc¢ ' . [13] Contd.
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(ii) Bauxile is a

IHIZG 2

(a) Silver ore
fesTora T

() Platinum ore
CADNITY S

(¢) Aluminium orc
e S
(d) Copper ore
T T
(i) Which of the following is a diseasc caused by Protein-Encrgy Malnutrition ?
ST (IO (AR 2 o4 Ao g me

(u) Rickets

(6) Kwashiorkor

(c) Beriberi
GIEISE

(d) Goitre
9=
(iv) The speed of light is the maximum in —
(AR (5] Fifes —

(a) diamond
e

(b) glass
JHS

(c) water

Al
(d) vacuum

RIS

B13-GSc [14]
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2. (a)
(b)
_(b}
3. (a)
(b)
(c)
4 @
B13-GSc

Define frequency of a wave. ]

T4 BT I WeE wan

What are ultrasound and infrasound ? Mention two uscs of ultrasound in medical
science. 3

TS Tl TR e (e 2 oA wiexter o1 I Sra 4|

The distance between two consccutive crests of a transverse wave is 1m. The
velocity of the wave is 10m/sec. Find the time-period of the wave. .2

B S2IZ GRS O GeEhi M Aew 7w 130519 | SRAGK @9 10 FA6R/ =
ZTE SAIOME “rTadie Sferear |

Write one usc of a concave mirror. . 1

Sqwe] LA ol e[ T

Draw a neat labelled diagram showing the formation of an image of an objcct in
a planc mirror. 2

G T SIfe (1l <GBt TTaeEs 2o (iR vw e B Ik wwew =1

An object is placed at a distance of 10cm from a convex mirror of focal length
1Scm. Find the position, nature and magnification of the image. 3

1S (&Y g EeR Q49 TG WAl #3110 (BfF Gfea® <5 7w ¥ (AR
tzrz | feRar wREm, 2FS wie eda fada =

Or / 9971

An object is placed 10¢m in front of a convex lens of focal length 15¢cm. Find
the location, naturc and magnification of the image. 3

15 cofe iR 7 ¥R TG (R 2/ 100 @ws «bt o7 39 (AR (2R | AR
TR, agfe w [ad fdfa <

Define refractive index of a medivm. - - 1

AT AfeAgeEa L@t ol

[15] Contd.
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(®)

5. (@)
(b)
(f)
(@)

6. (a)

B13-GSc

For what phenomenon of light do mirages occur in desert ? Explain the formation
of mirage in hot desert. 1+3=4

(AT (P! 2B A T e Tafber Jf2 22 2 T wergiie TADwE 157 am
3|

(£

State Coulomb’s law in electrostatics with its mathematical expression.

FaRrea gevaa s@ue! sifdfos amafEz &=

Distinguish between the potential difference between two points and the potential
at a point in an clectric ficld. 2

es cras wul fg e o e @b Re fer — «@3 9oM Tree o AL
feran

Define clectric field intensity. A charge of 5x107°C experiences a force of
2x107 ¥V at a point in an electric field. Calculate the magnitude of the intensity
at that point. . 112=3
(afos CFa RS A 7t | 93 Rwpe o (il bt Rege 5% 1070 3799 Sde@
soe (Tt e T 2 x 107 fHE5 1 i frpe fage cwazim afaeya w1 fefa <=t |

An clectric lamp is connected to a 220F line. The current through it 1s 2-0.4.

‘What is the resistance of the filament of the lamp ? 2

BT (APREF 7= @bl 220V FZA F5S ALCAH 41 T2 | B3 A 2fpe Qe
Afwle 2-04 1 GO SleEa @ld fFam 2

Who discovered the relation between electric current and magnetism ? Describe
the experiment which showed that the electricity and the magnetism are related
phenomena. 1+3=4

Rpe S peeed Aes 43 FAE I e Ffafeere Rpe @i pae Aem
ForFh! 2foem st ARHE 30 T4 |

Or / 91

What is electromagnetic induction ? Describe an activity which demonstrates the
phenomenon of clectromagnetic induction. 143=4

g o 67 g Site<m ARTGATS (et <ot PR el <=1 |

[16]

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

()

(c)

7. (a)

®)

(c)

B13-GSc

What is the minimum amount of information necded to determine the direction
of the magnetic force on a moving charge ? 2

g & & o eras fofe R sfede ﬁiqmaﬂ*%mwgﬁnwﬁnﬁcﬁ
I A

Name a device which converts an clectrical signal to sound. 1

e AEes <A weiefe T AgERe aw

What is a covalent bond ? Write two propertics of covalent compounds. Give an
example of a molecule formed by triple bond. 1+2+1=4

TG A F (@I 2 FRLAG (oIS 70! Eﬁfﬁﬁnﬂré@mﬁmmmmaﬁ
Trarzad AL hitp://www assamboald com

Answer any one

R cetear G519 Tes
(i)  Choose the polar molecules from the following : ' 2
woe fRaIaRE A &39Sz Ak S

Cl,, H.O0, CCl,, NH;
‘(z‘i) The formulae of some ions are given below. Find out the formulae of the
compounds named below :

lons : Mg*. 4P 0> N¥
Compounds : Magnesium Nitride, Aluminium Oxide. 1+1=2

T R SR S Tl SR | TS A B R (QIPRIE R T -
T : A_’fg2+s AJ,3+‘J 02-, N:’l—'
el ReATATRANT FLBIRS, e SRS

Give reasons why ' - 2
e vt &
Sodium chloride is soluble in water ?
Tioam FRT HAe waqa?
[17] Contd.
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8. (a)

)

(¢

B13-GSc

What arc metals ? Write briefly about any three chemical properties of metals.
1+3=4

415 FF @2 args frama R amafre af Kaoa B
Or / e

What is concentration of ore ? Describe two processes of concentration of ore.

1+3=4
A sl 2 S sibieaed wor #imho a<al w4
Statc true or false ——
All ores are minerals but all minerals are not ores. 1
TG (1 ) CrEe 99 — '
FEE WFEE T [ FAwret qfre wiea w124 |
Answer any four of the following : ' Vaxd=2

<o ¥ @I G5 T5E @l
()  Name a mectal found in free state in nature.
A Y& TIZIS (ol <O 4rga am forai |

(ii) Write the namc of one mctalloid.
b1 Yigae = &
(ifi) Out of sodium and copper, which metal is more reactive ?

RTEqM SE 7 (SIS (FA0] 41y W4 Alra?

(iv) What is producced when gangue combines with flux ?
et e = o o ([@iftrs 29, & Teom =2

(v) Fill in the blanks :
A BE 7= T4

Brass is an alloy of zinc and

Preazafi@ue 999 49|

[18]
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9. (a)

-4

(b)

"10. (a)

@)

B13-GSc

Write name and formula of 1x2=2
AN " JgEe o

(i) an aromatic hydrocarbon

GO LT 2 T
(i) a paraffin
Bt CoarERE
Or / 993t

Write the names of

A fovat
() H-C=C-H

@ []

Explain why carbon exhibits tetra-covalency. 2
IR T — IR R vtz o

Or / 93y

What is a homologous series ? Write the name and general formula of a homologous

serics. 1+1=2

FeN I T QA2 B TN (= T S AR FCS B |

Write the chemical equation for manufacture of ammonia by Haber’s Process.
Mention one usc of ammonia. 1+1=2

(AR Aaford aa Tt SesA=R siAms e & | awfme 96 T=ee SEme =0
Or / 9%t

Write the formula of bleaching powder. Write one of its uses. 1+1=2

R 1w Aigre o | TaR @Bt g fBvat

Name the compound of sodium prepared by Solvay process. - 1

RS HRmerd aEe 91 RfSam (@6iteE wis &

[19] Contd.
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(©

Fill in the blanks : : 1
AN I A T4
Fuming sulphuric acid is known as

R eiroRs afges @

What are vitamins ? How are they classificd ? Give. examples. 142=3

SO F1 @ite? 309 @S (@RS @) 23 ? Suizsd War |
Or / 97

What is food adulteration ? Write the names of two food adulterants. Mcntion the
foods for which they are used as adulterants. 1+2=3
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1. (a)
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() What is Fluorosis 7 _ 2
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IR 1% Whatsapp @ 9300930012
What is iodised .l 0 Send vour old paper & get 10/-
(c) hat 1s 10dised salt 7 audr dar 3R 10 o ar ]
e fe Y =139 2 Paytm or Google Pay ¥
12. (@) Write two characteristics of a good fisel. 2
o ZER e ety fomn
Or / 9931
Name two devices used to hamess solar energy. 2
CiIfe rgaem A aze 2 9ol Agfera |1 i |
(b) Give reason why
a foul smelling gas is mixed with domestic LPG ? 1
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